Radio preparation (99261300) -> 81-60-1993 aktueller Stand

Page 1 of 2
This print may include data out of date! For current spare part catalogue please visitwww.hako.com



Radio preparation (99261300) -> 81-60-1993 aktueller Stand

Pos. Part-No. Material-No. | Description Measurement DIN/ISO |Serial No. begin Serial No. end Remarks Qty. l.:tn 3’:

us

1| 00051320 11175072 | Fillister-head screw M6x16-4.8-H A2G DIN 7985 4 |PC|01

2| 00052620 11175155 | Fillister-head screw M4x12-4.8-H A2G DIN 7985 8 |PC|01

3| 00133830 12040028 | Hex. Nut M4-6 A2G DIN 985 8 |PC|01

4| 00133120 12180048 | Nut M6-R Universal A2G 4 |PC|01

5| 00053720 12310025 |Washer Ab5,3-140HV-St A2G DIN 125 4 |PC|01

6| 00874720 12310272 |Washer B4,3-140HV-A4 DIN 125 8 |PC|01

7| 01146060 90462375 | Set (2pc.) loudspeaker 1 |PC|01

8| 01471840 90462391 |Retainer 2 |PC|01

9| 01165520 90470519 |Antenna 1 |PC|01

W14 | 03011470 97086110 | Wiring harness W14 1 |PC|SO
Page 2 of 2

This print may include data out of date! For current spare part catalogue please visitwww.hako.com




